oO0O0O00o0n0 #40 2006511 00

24 00O

A, BO0000OOOABOODOOONONADOOD «000 BOODO GO0O0OODOOO f
0000 ADDOO BOOOO (mappingmap) 0000

f:A—B, 0oOO0 A-L.B

gooooon

00 e ADO0OODOObDeBOOO fOUO 00 (imarge)y 00000 = f(a) DOODO
O00OeO fO000 000 (preimarge) 1000

02000 f(x)DODODODO0OOOOD z2+— f(x) 0000000000 O0OOOOOODOOO
gooooboooono 2000 y:f(x):xQDDDDDDDD ROOROOOOOOOO
000000000 2xeRO00 2200000000

f:R — R

r 1‘2

gbooooboooon

oo 2.6 0O

(1) 00 f: A—BOOOODAQOOODO (domain) J0O00BOOO (codomain) 0000
f(A)={f(a)|]ae A} 000 (range) 00000 (image) DO0DODO

(2) 00 AODD ADUDOOOUOUDOUOOOO e€e A0 «000O000OO0OOO (identity map)
00D00idy 000 1, 00000000 (0000 idala)=a Yae ADDDO)D

(3) 00 f:A—BODDOO f(A)=BOOOOf0 AOO BOOODO (surjection) O 0 0
000000 (ontomap) D000

4) 00 f:A—BOODOD a1 20, 000000 a1,a2 € ADODO0DD flar) # flaz)
00000 fO000 (injection) 000 10 1000 (one-to-one map) 0000

(5) 00 f:A—BOOODOOODOO0ODO00OO00O (bijection) 0000

6) 00000 f:A—B,g:B—CO000Ma) =g(f(a)) 00000000 h: A—C
0000000000 fO0 ¢gOO000O0O (composite mapping) DOO0Oh=go fO0000
googo

ABO0OOOOOOOOOOODODO00 f:A—BOOO (function) 0100000000
f:X—YODOOOOOy020000000000000000000y=22000000
00 y=f(z)=2200000000000 y=f(z)=2200000000 (00)000000
000000000000 y=f(z)=220000000000000000000000000
0000000000000000

000000000000000000000000000000000000000000

1
goodoooooby=—0400bbb0o0o00oooobbbobbbbbbooooooo
T

X={zeR|z£0} 00000
0000000000000000000 http://math.cs.kitami-it.ac.jp/ kouno/kougi.html 0000000
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0 2.7 0
1) f:R—RO f(z)=2?0000000000 2000000000000000000
ROODODOODRODOOOf(1)=f(-1)=100000000000000 200000
0000D00000000D000 fO0D00000O0
00 f(R)D 00000000000 f(R)={z€R|z=20}=[0,00) 0000000
fo0o0ooooon
(2) f:R—[0,00)0 f(x)=2?2000000000 f0 ()0 fO0000O0D0O0OCOO0
00000000 f000D0O00()0 fO00O000ODOO
3) f(x) =22 000002000000000000000000000000f0 f
[0,00)—ROODODODODOOOOOO0O f([0,00)) 0000 [0,00)0000
O0000f0[0,00) 000000000002 £#2, 00000 f(z1) = 2% # 23 =
f(z2) 000O0O0DODO0O0000D0ODOO0O0000O0DOOOO0O00O0
(4) 000D f(z)=2?200000200000000000000000000000000
0o00f0 f:[0,0)—[0,00) 0000000000
(3)00D000000 f000D0O000O000D0OO f([0,00))0 [0,00)000000
0o000DO0O0oooooo

000029 000 ()~9oO0O0o0oOoooO

(a) DO0DD0OO0DO0ODO0OOOO0OO

(b DODOOOUOOOOOOO

() 00ODOOOOOOOO

(d) 0000000

gobooboobooboooood

1) f:R—RO flz)=e* 00000

2)f:(0,0)—RO f(x)=e*00000
I

(

(2)

(3)f:R—(0,00)0 f(z)=e* 00000
(4) f:(0,00)—(0,00)0 f(z)=e*00000
(5) f:(0,00) — RO f(z)=logz 00000
6) f:R— RO f(x)=cosz 00000

(M f:R—[-1,1]0 f(x)=cosz 00000
®)f:[0,7]—[-1,1]0 f(z)=cosz0O0O0ODO
(9) f:]0,7]— RO f(x)=cosz 00000

00 28 f:A—BUOO0O0OOUOOOO0OBOUDOOO bOOOOOf(e)=b000 ADOO
OecOO0OO0O0OO0ODOOO

00 f:A—BOOOODODOOf(A) =BO0000000BOO0000 bO000D0
be f(A)={f(a)]ac A} 000000 ac ADDDOOOb=f(a) 0000000
f0000000f(a1) = flaz) =b0000000 a1 =a, 000000000000000
fla=b000000 000000000 N

f:A—BOOODODOOOObe BOOODODODOODOOD aceADDODDODDDODODOO
0000000 f0000 (inversemap) 0000 f~':B—AD0000000O000O0OOD
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fla)=b000f'Y(p)=e 0000000000
flof=ida  fof'=idp
gooooo

0 2.9

(1)f:R—(0,00)0 f(z) = 0000 f000000000000fO00D0 f1:
(0,00)—ROO0D0D0D000O00 f~Y(z)=logz 0000

(2) f :[0,00) —[0,00)0 f(z) =2200000000000000000000 f':
[0,00)—[0,00) 000000000 f~Y(2)=,2z0000

(@f:[ﬁg,g}—ayJJ]Df@%:mmDDDDDDDDDDDDDDDDDDf*:
[—Ll}—{—%yg}DDDDDDDDDDDf”mﬂzmwmeDDDDDDDDD

+0000sin '20000000000000000000000000O0DOOO0OOO0
oon

00 210 f:A—B,g:B— AO000Ogof=ids 00000000
(1) fO00O0O0O0O00
(2) y0OD0DOOO0

oo () D000a1,a2 € A0 a1 #a, 000000000Ogof=4dsa 000000

9(f(a1)) = a1 # az = g(f(az2))

0000f(a1) = f(a2) B00000 g(f(a1)) =9(f(a2)) 00OD0O0O0O0O00000Og(f(a1)) #
9(fla)) 000000 f(ay) # flay) 0000000 fO0000000

(2) 0000 gof=ids 0000D00g(f(A)=A0000f(A)CBOODOOOgB) DA
00000000¢gB)CADDDDDDOgB =4a000000 N

ooono 210 f:A—B,g:B—CO0O0O0O

(1) fO0 ¢0000000gof:A—CO0O0D0OOODO0OOODO
(2)f0 g0000000Ogof:A—-CO0000DOOOODOOOOO
J00000O0oO0oOoOoOoOOoOoOoOoOOOOOOOOOOOOO0

0000 211 X,YOOOOOOf:X-—YOOOOA BO X0OOO0OOOOOO

(1) f(AUB) = f(A)uf(B)0D0O0D0O0O

(2) f(ANB)C f(A)nf(B)0O0O0O0DODO

3) f(ANB)=f(A)nf(B)00000D00000O0

0000 (1), (200000000 2500000000()000000000000000
000
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